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DNA Replication

Homologous chromosomes
iine up in the center (ZN)
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Two new cells are created each
with half the number (N) of
chromosomes as the original cell

Chromosomes line up in the center {IN})
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$Four gametes (N) are created
JEach with half the number of ¥
¥ chromosomes as the original
cell



Fertilization of the egg(N) by the
sperm(N)
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A zygote is created
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DNA Replication
The chromosomes
line up in the center
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The chromosomes
are divided equally
and two new cells
(2N) are created with
the same number of
chromosomes (single
stranded) as the
original cell

DNA replication
makes the
chromoesomes double
stranded and two new
daughter cells (2N) are
created that are exact
copies of the original
cell
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Trait

Parent Genoiype

Parent Phenotype Baby Genotype Baby Pheaotype

Chromosome #

1

Neck length

Eye color

Horn present

Spike present

Tail length

o]

Body color

Wing color

Toe mumber

Belly color

Spike color

Freckles .

Tire breathing

Gender

N-long neck
n-short neck

W-yellow belly
w-white belly

T-ihree toes R-red wings
{-four toes r-yellow wings

& - -spikes on tail

h

-no spikes on tail

K-freckles K¥X-female
k-no freckles XY -male

G-green body  L-long tail
g-grey body {-short tail

F-fire breathing E-red eyes
f-not fire breathing ¢-white eyes

B-black spikes H-hom .
b-red spikes h-no hom ‘




